Quick Start Guide

NSW Series
Nebula Cloud-Managed (PoE) Switch

Na
”/'\

nebula

ENGLISH | DEUTSCH | ESPANOL | FRANCAIS |
ITALIANO | PYCCKWI | SVENSKA |
A | S

ZYXEL

Hardware Installation

ZYXEL
% DHCP-assigned Ip[[im] = @ & &
2,
nebula [‘_‘lf
| |
Front
@ Q =[
——
——
@ —
Network
PC Laptop IP Phone Storage
Optional
Modem / Router
' ]
@ e = Power outlet
AC Input J
Back

Manage Your Device

©el 2] [e][x]

( N2 ZvxeL nebula Login

),
o][e][x] )

9 @ https://nebula.zyxel.com

©e|

Sign In
Email L
Password \:l
Submit
4} )
&
@ @ ’ https://nebula.zyxel.com jel ‘
Is )
“,‘": ZYXEL nebula Back Label

ORGANIZATION

If you create a new site we can help you
configure it.

S/N: XXXXXXX
MAC: XXXXXXXXXXXX

Rack Mounting

QOO0
[=X~Y~]

= | o
® []: —
o o N ——
O o O
] [ ]
]
d = e ]
-1l e ]
- mx D
.- [w=] fcal
| o o
[ =
] [as]
= =
[mm] [mm]
—r ]
]
I~ —

See the User's Guide at www.zyxel.com for more information,
including customer support and safety warnings.

EU Importer

Zyxel Communications A/S

Gladsaxevej 378, 2. th. 2860 Sgborg, Denmark
http://www.zyxel.dk

US Importer

Zyxel Communications, Inc

1130 North Miller Street Anaheim, CA 92806-2001
http://www.us.zyxel.com EH[

Copyright © 2019 Zyxel Communications Corp. All Rights Reserved.

@ @ Connect to a modem or router that has Internet access. The Switch can get a dynamic IP
address from a DHCP server by default.

@ Connect to an appropriate power source.
@ @ An ein Modem oder einen Router mit Internetanschluss anschlieRen. Der Switch kann
standardmaRig eine dynamische IP-Adresse von einem DHCP Server erhalten.
@ An eine geeignete Stromquelle anschlieRen.
@ @ Conectar a un médem o router con acceso a Internet. El switch puede obtener una
direccion IP dindmica desde un servidor DHCP de forma predeterminada.
@ Conecte a una fuente de corriente apropiada.
@ @ Connectez-vous a un modem ou un routeur ayant accés a Internet. Le commutateur peut
obtenir une adresse IP dynamique a partir d'un serveur DHCP par défaut.
@ Connectez-vous a une source d'alimentation appropriée.
@ Connettersi a un modem o router con accesso Internet. Lo switch puo ottenere in modo
predefinito un indirizzo IP dinamico da un server DHCP.
@ Collegare ad una fonte di alimentazione appropriata.
@ @ MoaKNUMUTE MOAEM UK POYTEP, UMEIOLLMIA AOCTYN B UHTEPHET. KOMMYTaTOP MOXKET
noayyatb AvHamuyeckuii IP-agpec ot cepsepa DHCP no ymonuyaHuio.
@ MoacoeAnHUTE HAA/EKALLMIA UCTOYHUK NUTAHUA.
@ @ Anslut till ett modem eller en router med Internet-atkomst. Switchen kan som standard fa
en dynamisk IP-adress fran en DHCP-server.
@ Anslut till en lamplig stromkalla.
(D) EEE R\ B P AR SR B 35, SIRHLEBA G AT M DHCP FRSS SSFRELE)
7 1P ik,
(2) EEHEE)IE LK FTE,
) (1) EEEA BRSNS RS, SRIBIRTER AR DHCP R ZEEH
RE P fiLiit,
Q) EEEEENEREE,

@ @ Go to the Zyxel Nebula Control Center (NCC) website (http://nebula.zyxel.com). Click Loginand you
will be redirected to the myZyXEL.com portal page. Create an myZyXEL.com account and sign in.
Create an organization and a site (network). Use the NSW Switch’s first MAC address and serial
number (S/N) to register and assign it to the site.

@ @ Gehen Sie auf die Zyxel Nebula Control Center (NCC) Webseite (http://nebula.zyxel.com). Klicken Sie
auf Anmelden/Login, um auf die myZyXEL.com Portalseite umgeleitet zu werden. Erstellen ein
myZyxel.com-Konto und melden sich damit an.

Erstellen Sie eine Organisation und einen Standort (Netzwerk). Verwenden Sie die erste MAC-Adresse
des NSW-Switch und die Seriennummer (S / N) um sich zu registrieren, und sie dem Standort
(Netzwerk) zuzuordnen.

@ @ Vaya a la pagina web Nebula Control Center (NCC) de Zyxel (http://nebula.zyxel.com). Haga clic en

Iniciar sesién para ir a la pagina del portal myZyXEL.com. Cree una cuenta myZyXEL.com e inicie sesion.
@ Cree una organizacion y un sitio (red). Utilice la primera direccion MAC del conmutador NSW vy el
numero de serie (S/N) para registrarlo y asignarlo al sitio.

@ @ Allez sur le site Zyxel Nebula Control Center (NCC) (http://nebula.zyxel.com). Cliquez sur Login
(Connexion) et vous serez redirigé vers la page du portail de myZyXEL.com. Créez un compte
myZyXEL.com et connectez-vous.

Créez une organisation et un site (réseau). Utilisez la premiére adresse MAC du commutateur NSW et
un numéro de série (S/N) pour l'enregistrer et I'attribuer au site.

@ Andare sul sito web Zyxel Centro di Controllo Nebula (NCC): http://nebula.zyxel.com. Fare clic su
login per accedere alla pagina del portale myZyXEL.com. Creare un account sul portale.

@ Create un’organizzazione e un sito (rete). Usare I'indirizzo MAC dello Switch NSW e numero seriale
(S/N) per effettuare la registrazione e assegnarla al sito.
MNepeiaunTe Ha caitt Zyxel Nebula Control Center (NCC) (http://nebula.zyxel.com). Haxkmute « Bxog» —
Bbl ByAeTe NepeHanpas/eHbl Ha CTpaHuLy noptana myZyXEL.com. Co3paiite akkayHT Ha myZyXEL.com
1 BbINONIHWTE BXOZ, B CUCTEMY.

@ BBeauTe MMA OpraH13aLmm 1 cogaiiTe ceTeBoit y3en. Beeaute nepsbiit MAC-aapec v cepuitHbliii Homep
(S/N) kommyTaTopa NSW /151 UX perucTpaumm 1 NpUCBOEHWs AaHHOMY y3/1y.

@ Ga till webbplatsen fér ZyXEL Nebula Control Center (NCC) (http://nebula.zyxel.com). Klicka pa Logga
in sa omdirigeras du till portalsidan for myZyXEL.com. Skapa ett konto fér myZyXEL.com och logga in.

@ Skapa en organisation och en site (natverk). Anvand MAC-adressen for NSW och serienumret (S/N) for
att registrera och tilldela den till platsen.

@ 718 Zyxel B9 Nebula 2 H:0 (NCC) P (http://nebula.zyxel.com), Bi“ER", HBEEERZE
myZyXEL.com [TPATTE. BI& myZyXEL.com MPFHE R,

@ SIZARMIE S (M) o B NSW SHEFLEIE — A MAC IR F 5] S (s/N) iEMFIFEH S E
i,

. (3) #HHITE Zyxel Nebula $2#I:L: (NCC) 481 (http://nebula.zyxel.com), 3%—T Login (B A), BE
HEH BB ZE myZyXEL.com ANOMEE, EIL myzyXEL.com IRSE, WEA.

@ EI‘E‘;E.%%&?&HH (4B3%), FHF NSW RIRBAVEE MAC (LR FIR (S/N) ETREM, WisHIEE

@ @ Attach the mounting brackets to the Switch using a #2 Philips screwdriver and M3 flat head screws.
Mount the Switch on a rack using a #2 Philips screwdriver and M5 flat head screws.
Desktop Installation Attach rubber feet to the Switch and place on a desk.
@ @ Bringen Sie die Montagehalterung mithilfe eines # 2 Kreuzschraubendrehers und den M3
Senkkopfschrauben an.

@ Installieren Sie den Switch mithilfe eines # 2 Kreuzschraubendrehers und M5 Senkkopfschrauben
auf dem Rack.

Tischinstallation Befestigen Sie die GummifiiRe an den Switch und platzieren ihn einfach auf

dem Schreibtisch.

@ @ Fije los soportes de montaje al conmutador con un destornillador de estrella numero 2 y tornillos
M3 de cabeza plana

@ Monte el conmutador en un bastidor con el destornillador Philips nimero 2 y tornillos M5 de
cabeza plana.

Instalacion de sobremesa Coloque las patas de goma en el conmutador para ponerlo sobre la mesa.
Fixez les supports de montage au commutateur a l'aide d'un tournevis cruciforme N°2 et de vis
M3 a téte plate

@ Fixez le commutateur sur un rack a I'aide d'un tournevis cruciforme N°2 et de vis M5 a téte plate
Installation de bureau Fixez les pieds en caoutchouc sur le commutateur et placez-le sur un bureau.
@ Attaccare le staffe di montaggio allo Switch usando un cacciavite Philips #2 a viti a testa piatta M3
Montare lo Switch su un rack usando un cacciavite Philips #2 a viti a testa piatta M5.
Installazione su scrivania Attaccare i piedini di gomma allo Switch e posizionare su una scrivania.

@ @ MpuKpenuTe MOHTaXHbIe KPOHLUTEMHbI K KOMMYTaTOPYy BUHTamMu M3 € NIOCKOW roNoBKOA €
NOMOLLbIO KpecToobpasHoit oTBepTKM (N22)

MprKpenuTe KOMMYTATOP K CTOIMKE BUHTaMM M5 C NNOCKOI rON0BKOW C MOMOLLbIO

KpectoobpasHoit oTepTKM (No2)
YcTaHOBKa Ha paboyem ctone  [puKpenuTe pe3nHOBble ONOPbl K KOMMYTaTOPy U YCTaHOBUTE €ro

Ha pabouem cTone.
Installera monteringsfastena pa switchen med en #2 insexnyckel och M3-skruvar med platt huvud

Installera switchen i ett rack med en #2 insexnyckel och M5-skruvar med platt huvud.

Skrivbordsinstallation Montera gummifotterna pa switchen och placera den pa en bankskiva.
(D) M2 S+FBLNM M3 FLBL, BREXRRERZRI L,

@ R S+FIBLTIF Ms FLBL, BREHRERNRL,

KERE HXGIELERE, BTREEL,
(1) B 2 e+ FoRmia T M3 FEIRM, HRELPERHSREL,

@ F 2 FHFIBSE T Ms FHRIBA, SRRBEERIMEEL,

KERE HEBHEREIGEL, RENERE L.



Quick Start Guide  «/z
v:b\v
NSW Series nebula

Nebula Cloud-Managed (PoE) Switch

z Y >< E L CESKY | POLSKI | SLOVENSKY | MAGYAR

Hardware Installation

ZYXEL

;4'3 DHCP—assignedIP | I I I I I ' I

nebula ﬁ f
1
Front
@ Q =[
——
——
(1 : o
Network
PC Laptop IP Phone Storage

Modem / Router

<]
@

@ Power outlet

AC Input

LI

Back

Manage Your Device

©el 2] [e][x]

( l}": ZYXEL nebula Login

P | )

9 @ https://nebula.zyxel.com

©e|

Sign In
Email I
Password
Submit
L J
4 ( 3
@ @ ’ https://nebula.zyxel.com jol ‘
- )
“,‘": ZYXEL nebula Back Label

ORGANIZATION

If you create a new site we can help you
configure it.

S/N: XXXXXXX
MAC: XXXXXXXXXXXX

Rack Mounting
(1

P _

Ou= 098
Q. _| |0
Lot 0olo 9| :

e [T —
=]
=] "—
=] =]
o o
=]
d o ]
=7 |le [}
ot _H= Z
= = ‘o
d E =
=] =]
=] =]
=] =]
L~ o
=]
J'\_/

See the User's Guide at www.zyxel.com for more information,
including customer support and safety warnings.

EU Importer

Zyxel Communications A/S

Gladsaxevej 378, 2. th. 2860 Sgborg, Denmark
http://www.zyxel.dk

US Importer

Zyxel Communications, Inc

1130 North Miller Street Anaheim, CA 92806-2001
http://www.us.zyxel.com EH[

Copyright © 2019 Zyxel Communications Corp. All Rights Reserved.

@ Zapojte do modemu nebo smérovace s pristupem k internetu. Ve vychozim nastaveni
miZe prepinad ziskat dynamickou IP adresu ze serveru DHCP.

@ Pripojte do odpovidajiciho zdroje energie.
@ Podtacz do modemu lub routera z dostepem do Internetu. Domyslinie przetgcznik moze
uzyskac dynamiczny adres IP z serwera DHCP.
@ Podtacz do odpowiedniego zrédta zasilania.

@ Pripojte k modemu alebo smerovacu s pristupom do internetu. Zariadenie Switch dokéze
v rédmci predvolby ziskat adresu IP zo servera DHCP.

@ Pripojte k vhodnému zdroju napajania.

@ @ Csatlakoztasson egy internetkapcsolattal rendelkez6 modemet vagy Utvalasztot. A switch
alapértelmezettként dinamikus IP-cimet kér a DHCP kiszolgalotol.

@ Csatlakoztasson egy megfelel6 dramforrast.

@ Prejdéte na web Zyxel NCC (Nebula Control Center) (http://nebula.zyxel.com). Kliknéte
na polozku Login (Pfihlasit se), pak budete presmérovani na stranku portalu
myZyXEL.com. Vytvorte si U¢et myZyXEL.com a pfihlaste se.

@Vytvofte organizaci a sit. K registraci a pfifazeni pfepinaée NSW pouzijte prvni MAC
adresu a sériové Cislo (S/N).

@ @ Przejdz do strony internetowej Zyxel Nebula Control Center (NCC)
(http://nebula.zyxel.com). Kliknij Login (Logowanie)i zostaniesz przekierowany na
strone internetowg portalu myZyXEL.com. Utwérz konto myZyXEL.com i zarejestruj sie.

@ Utwdrz organizacje i strone (siec). Uzyj pierwszego adresu MAC przetacznika NSW i
numer seryjny (S/N), aby zarejestrowac i przypisa¢ go do strony.

@ @ Prejdite na webovu lokalitu ovladacieho centra Zyxel Nebula Control Center (NCC)
(http://nebula.zyxel.com). Kliknite na Login (Prihlasit sa) a budete presmerovani na
stranku portalu myZyXEL.com. Vytvorte konto v ramci myZyXEL.com a prihlaste sa.
Vytvorte organizaciu a lokalitu (siet). Na registraciu a priradenie k lokalite pouZite prvu
adresu MAC zariadenia Switch NSW a sériové islo (S/N).

Latogasson el a Zyxel Nebula Control Center (NCC) weboldalra:
(http://nebula.zyxel.com). Kattintson a Login (bejelentkezés) lehetéségre, ekkor
atirdnyitdsra keriil a myZyXEL.com portal oldalara. Hozzon Iétre egy myZyXEL.com fidkot
és jelentkezzen be.

@ Hozzon létre egy szervezetet és egy munkateriletet (haldzat). Az NSW switch els6 MAC
cimével és sorozatszamaval (S/N) regisztréljon, és rendelje azt a munkateriilethez.

@ @Pfipevnéte drzaky k pfepinaci pomoci kfizového Sroubovaku a Sroubl M3.
@Upevnéte pfepinac do konzoly pomoci kiizového Sroubovéku a Sroubl M5.
Instalace pocitace PFipevnéte k prepinaci gumové podlozky a postavte na stil.

m @Przykrec’ zaciski montazowe do przetacznika przy uzyciu Srubokreta krzyzakowego Nr 2 i
$rub ptaskich M3.
@Zamontuj przetacznik na stelazu przy uzyciu Srubokreta krzyzakowego Nr 2 i Srub
ptaskich M5.
Instalacja na biurku Przymocuj podstawke gumowa do przetacznika i umies¢ przetacznik na
biurku.

@ @K zariadeniu Swith namontujte montazne konzoly; pouZite na to kriZzovy skrutkovac ¢. 2
a skrutky M3 s plochou hlavou.

@Zariadenie Swith namontujte do stojana; pouZite na to krizovy skrutkovac €. 2 a skrutky
M5 s plochou hlavou.

Instaldcia na pracovnu plochu K zariadeniu Switch pripojte gumené patky a poloZte na stol.

@ @Rbgzitse a tartdkonzolokat a switchre egy #2 méretl( csillag csavarhdzéval, és M3
laposfejli csavarokkal.
@Rbgzitse a switchet a szekrényben egy #2 méret( csillag csavarhuzéval, és M5 laposfejii
csavarokkal.
Asztali telepités Rogzitsen gumi talpakat a switchre és helyezze az asztalra.



